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NEW QUESTION 710

Which IWAN design model provides an SLA guarantee at the lowest cost?

A.    dual hybrid with PLR

B.    dual MPLS

C.    hybrid

D.    dual Internet

Answer: C

NEW QUESTION 711

A small branch office needs to deploy a cost effective network security solution that offers the capability to deploy several security

zones services. Which type of firewall meets these requirements?

A.    ASA 1000v virtual firewall

B.    virtual security gateway

C.    ASA firewall in multicontext mode

D.    IOS zone-based firewall solution on existing branch office router

Answer: A

NEW QUESTION 712

A network engineer must design a full mesh overlay VPN network. The proposed setup must be scalable, support multicast services,

and be suitable for deployment over public internet. Which overlay VPN technology must be used?

A.    GETVPN

B.    DMVPN

C.    GRE

D.    IPsec

Answer: B

NEW QUESTION 713

While designing a Layer 2 distribution switch, customer inquiries about the ability to tune Spanning Tree Protocol timers. What is a

valid timer for RSTP?

A.    forward delay

B.    max AGE

C.    standby

D.    hello

Answer: D

NEW QUESTION 714

What is the first element of a QoS policy?

A.    policing

B.    classification

C.    shaping

D.    scheduling

Answer: B

NEW QUESTION 715

A network needs multicast services. The network is divided into several different multicast domains. Which two protocols can be

deployed to achieve multicast interdomain communication and discovery of multicast sources among the various domains? (Choose

two.)
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A.    MP-BGP

B.    BIDIR-PIM

C.    MSDP

D.    IGMPv2

E.    MLD

Answer: AC

NEW QUESTION 716

An engineer is developing an enterprise strategy for IPv6 migration. The legacy IPv4 environment should not be in any way affected

by migration to avoid production outages. Which deployment model accomplishes this goal?

A.    hybrid

B.    distributed

C.    dual-stack

D.    service block

Answer: C

NEW QUESTION 717

Which technology in a data center provides traffic between the client and servers or from server to server using all available links?

A.    vPC

B.    VDC

C.    VRF

D.    VXLAN

Answer: A

NEW QUESTION 718

An engineer is designing a campus network with dedicated VLANs per access layer switch and wants to ensure that load sharing is

supported. Which type of distribution to access link must be implemented to accomplish this configuration?

A.    shared

B.    spanned

C.    Layer 3

D.    Layer 2

Answer: A

NEW QUESTION 719

An engineer must install a firewall and IPS that does not deny traffic to hosts but notifies another device to block traffic. In which

mode is the IPS deployed?

A.    multitier

B.    promiscuous

C.    inline

D.    redundant

Answer: B

NEW QUESTION 720

An engineer is building a new data center design based on Cisco ACI. For security reasons, certain applications are prevented from

communicating directly with each other, and bandwidth requirements exclude the possibility of using an external security appliance.

Which solution satisfies these requirements?

A.    Place applications in the same EPG and apply filters.

B.    Place applications in separate EPGs.

C.    Place applications in separate bridge domains.

D.    Place applications in same bridge domain and apply filters.

Answer: D

NEW QUESTION 721

Drag and Drop
Drag and drop the network protection mechanisms from the left onto the correct descriptions on the right. Not all options are used.
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Answer:

NEW QUESTION 722
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